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; 100kN/mM%#BZ % - -~ -|3mZE#BZ5 -~ - -| 100kN/m#Z#B =% - -~ -|3mE#BZD -~
ZThLLS 1.00 1000 ~ 473 5896 | #nls | ooo ~ 473|1.80 9.10 ZThLLst 1.00 | 5.00 ~ 5.00 58.96 | =nst | 5,00 ~ 5.00 | 1.80 9.10
2 100kN/mM%#BZ % ~ -|3mZE#BZ 5 ~ -| 100kN/m#Z#B =% - -~ -|3mE#BZD -~
ZThLLS 1.00 ] 000 ~ 519 64.74 | Thst | 000 ~ 519]1.92 9.68 ZThLLst 1.00 | 5.00 ~ 597 64.74 | =nS | 500 ~ 597 |1.92 9.68
3 100kN/mM%#BZ % ~ -|3mZE#BZ 5 ~ -| 100kN/m%#B =% - -~ -|3mE#BZD -~
zh st 1.00 | 0.00 ~ 582 7284 | EnS | 000 ~ 582|178 9.00 zh st 1.00 | 5.00 ~ 6.56 7284 | =nLS | 600 ~ 666|178 9.00
4 100kN/m##BZ2%5| 1.00| 000 ~ 1.45| 121.99 |3mZEBZ5 ~ -| 100kN/miZ#B2 5| 1.00 | 1214 ~ 2060 121.99 |3mEEZD -~
ZThLLS 100|145 ~ 923 100.00| TnLs | 0oo ~ 923|242 12.25 ZThLLst 1.00|5.00 ~ 1214| 100.00| TnS | 500 ~ 2060|242 12.25
5 100kN/m##BZ2%5| 1.00| 000 ~ 233 13632 |3mEBZ5 ~ -| 100kN/mMiZ#BZ2 5| 1.00 | 11.56¢4 ~ 2998 136.32 |3mEEZD -~
Zzh st 1.00 | 233 ~ 1011 100.00 | #Fhilst | 000 ~ 1011]| 278 14.07 zh st 1.00 | 500 ~ 1154 100.00 | Thist | 500 ~ 2998|278 14.07
6 100kN/m##BZ%5| 1.00| 0.00 ~ 255 140.04 |3mZEBZ5 ~ -| 100kN/mi%#82% | 1.00 | 11.17 ~ 29.91 140.04 |3m%EHEAS -~
ZThLLS 1.00 ] 2565 ~ 1034 100.00 | TS | 000 ~ 1034 2.83 14.30 zhst 1.00|5.00 ~ 11.17| 100.00| TnS | 500 ~ 2991|285 14.30
- 100kN/m##BZ%5| 1.00| 000 ~ 216 13347 |3mZEBZ5 ~ -| 100kN/mM# 25 | 1.00 | 11.81 ~ 2934 | 133.47 |3mZEEZSD -~
ZThLLS 1001216 ~ 994 100.00 | FThLs | 000 ~ 994|2.76 13.93 ZThLlst 1.00 | 500 ~ 1181 100.00 | =St | 5,00 ~ 2931 2.76 13.93
g 100kN/mM#%#BZ % ~ -|3mZEBZ S ~ -| 100kN/m%#B =% - -~ -|3mEEBZD -~
Zhs 1.00 | 000 ~ 456 56.86 | FnLst | 000 ~ 0.00| 1.58 7.97 Tnelst 1.00 | 5.00 ~ 5.00 56.86 | ThLS | 5,00 ~ 5.00 | 1.58 7.97
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100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ ZnList ~ Zhst ~
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